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Let f: R — [0, «) be such that Llilg f(x) exists and

(3) does not exist

limw =0. Then Limf(x)equal:
x5 m x5
[AIEEE-2011]
(1) 3 (2) 0 31 4) 2
. (x-sinx) . (1
hrrg[ jsm[—j [AIEEE-2012(Online)]
X X X
(1) Equals -1 (2) Equals 1
(3) Does not exist (4) Equals 0
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16. ngg% is equal to : 25. The integer n for which Lim feopx 1)(;:osx g}
X X
[JEE Mains Offline-2014] . . .
is a finite non-zero number is :-
i [IIT 2002 (screening)]
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17. If lim tan(x —2){X2 +(k - 2)x — 2k} ~5 then Kk is 26. If ];(‘Lr};l sin(nx)[(a - I’;)HX — tanx] -0 (I’l S O) thiori the
X2 x% —4x +4 X
equal to [JEE Mains Online-2014] value of 'a' is equal to :- [IIT 2003 (screening)]
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